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CORRECTION OF 2013 SESSION

It 1s easily clear to see that £(0)= —% and f(1)= f(4) =0 therefore we can just
conclude the x and y- intercepts are 1, 4 and -4/3 thus 1-B
2y The function y=3/x increase and symmetric with respect

“to origin because it is the reciprocal of the function /f(x)=x hencé 2 —B

3) D 1s the function of the limit of the CAUCHY sequence
therefore 3 — D

e
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4) f(x)=x"+2x+2,xell the zero of the function fis the

real Xy suchthat-1=x, =0

We know that f(-1) = -1 and f(0) = 2 and according to the intermediate value
theorem’ s w s
fO)X f(=1) = =2 < 0. Hence x, & [—1,2] therefore 4 — B

#

w0y =M

! ayma0)

y(3)=Me? =M™ =10M

lu’ In(10)

5) (1) = Me? because

Therefore5—D -
6) Knowing that U, = Imillion =10°

At the end of the first year we have U= U, +5%U, =1.05U,,.

At the_end of the second year we have

U, = (U, +10°)+5%(U, +10°) =1.05(U, +10°)

We can the generalize that U, = I.OS(UH +106) the calculation of

Ups=50.133.250
Therefore 6-C

» - 3+5(n+1
SﬁZHSnx””a,,:HSH;%= (n+1)
£dy, 4 4

S5(n+1}+3
1 fppl s g HERES
X an x3m 5n+4

1
R=?=1Hence S converge if x| < R =|x|<1=>-1<x <1

;L herefore 7—D
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Ifx20=x 20 thenwehavegr us:w >0

n+l —
':\'JT

5 2 1 1
(X, )Is the positive terms sequence and x, —#, = z(x +—j—x” = —_(aﬂ:”J by

resolution of the equation X, =X, we can easily have

1 a a a : :
X, =—| X, +— |=2x,=x +— :i>x”:—:>xn:i\/5hmx”:\/;

"(‘ Y" X—>o0

e n

Therefore’ 8— B
220

0) g(x)= xfcos’—|:>0 (x)=2f cos—‘ 7 sin 22 floos 27
For X=1=¢11)= zf[ ]ﬁf-{f( ] g‘(l)—2+i6§-7z ;
9-B 2 ‘:
10 /(2 )T%()) '
X o -1 1 400

Therefore
10— C

3 11) (xJ+a2y)dx+(4x+y3)dy=0:>a=—2;2
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12) the general solution of the equation v"—2y'+2y=0is on the

form y = (acosx+bsin x)e" =acosxe’ +bhsinxe’ where a and b are real numbers.

Here the two linearly functions for that solution are: y, = asin xe* and y, = hcos xe*

and the wronskian (W) of those two solutions is:

Y12 (sinx)e™ (cosx)e™ 2oy
Wy, ) = j‘,! g = oy ) R
o Y132 (cosx +sinx)e* (cosx — sinx)e”®
For x = In2, Wr= —e*™* = —e"™* = —4 therefore question 12 has no good

answer
19)(1,1,6);(2,-1,2);(0,1,4) " Verify the equation z=2X+3Y+1

Therefore19— A

20) Since

;]ﬁ‘l-d one has20 — A
9 |9 -
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